= O
N 2 0l & AF S E A A
M ALFH
Y CRNEY =5 L sA2E
o9l CAJIRY =& (el @2
_ _ SIEN
SA B HRA(SH) - MRAY - B O & o4 i HIRE
ral=FSESIN| 10,646,863 6,368, 183 4,278,680
= 500,000
= 720,000
&2 1,154
= 53,700
Al 9,372,009
SZ2USY =2FE Y S22 5,804,418 2,479,972 3,324,446
= 500,000
= 720,000
Al 4,584,418
SANIRY =HE 2,696,840 1,391,440 1,305,400
= 500,000
= 320,000
Al 1,876,840
82 220 280,000 276,000 4,000
= 140,000
Al 140,000
401 A& HIZ 2 0HHI 280,000 276,000 4,000
= 140,000
Al 140,000
01 Al€Hl 277,998 274,027 3,971
ORIgEz 72X 277,998
& 140,000
Al 137,998
03 A& 20| 2,002 1,973 29
OSIBER 2ZEME 20
277,998,000& = 0.72/100 2,002
WSAMIE2R A 190,000 68,000 122,000
= 95,000
Al 95,000
401 A& HIZ 2 CHYI 190,000 68,000 122,000
= 95,000
Al 95,000
01 A& H 188,641 67,393 121,248
OusAD #2x HH 188,641
& 95,000
Al 93,641
03 Al 201l 1,359 607 752
OREAD RS e ALSHY)
188,641,000& * 0.72/100 1,359
ScPEL2(237) S2EEF A 1,006,300 201,440 804,860
401 A& HIS 2 CHYI 1,006,300 201,440 804,860
01 A& HI 1,000,000 200,000 800,000
Oscl~7Ex2t E2EEH 1,000,000
03 A€ 2 0Hd| 6,300 1,440 4,860
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SMN-HHM .. AHA(SH) - MRAY - BES O AF K dd = Hlw &2
- T - = oS = =5 0:”/&,% Lsa
Osel~7Z42t 2L E 20|
1,000,000,000& * 0.63/100 6,300
A E~BHEEARZE S S X T AL 1,000,000 640,000 360,000
= 500,000
Al 500,000
401 AIEBIZ 2OHYI 1,000,000 640,000 360,000
=2 500,000
Al 500,000
01 A& HI 993,739 635,993 357,746
OALT~HEAIZE S 2 ST A S AL 993,739
2 500,000
Al 493,739
03 AI& 2 0HHI 6,261 4,007 2,254
OLET~BEARRZE S 2T E IS AL 20|
993,739,000& * 0.63/100 6,261
HElolBES YA 170,000 206,000 36,000
= 85,000
Al 85,000
401 A& HIZ 20HYI 170,000 206,000 A 36,000
= 85,000
Al 85,000
01 A& HI 168,784 204,527 A35,743
ONe0IEES 72 &XI 168,784
= 85,000
Al 83,784
03 AI& 2 0HHI 1,216 1,473 A 257
ONHE0IESYE 2]
168,784,000& * 0.72/100 1,216
StdAIEHMsEF7AE T2 FHI 50,540 0 50,540
401 Al HIZ 20HYI 50,540 0 50,540
01 Al&Hl 50,000 0 50,000
Ozt A=~sgTRL: T2 EH| 50,000
03 Al& 2 0HHI 540 0 540
Ostdd=~s8FTRA T2FH AL 204
50,000,000& = 1.08/100 540
Sz JIeRs 2,331,840 477,060 1,854,780
& 400,000
Al 1,931,840
EHeHE = E 22| 75,900 69,000 6,900
307 2I2tol A 75,900 69,000 6,900
05 BIZ2H2 & = 75,900 69,000 6,900
OtjHAE = 2l 75,900
o P g &teld| 53,900
ocdAHHa HUALESF 5,000
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odE=s 72+ 17,000
C2 RNE* 1,105,400 276,980 828,420
401 Al EHIL 2 Y] 755,400 271,980 483,420
01 A& H] 750,000 270,000 480,000
OZZEHES=SA 500,000
OZ2OHTAILS HUISA 250,000
03 Al R CHH 5,400 1,980 3,420
O2ZHE I A 20|
500,000,0008 * 0.72/100 3,600
OZRFAISES HHIZA 20HYI
250,000,000& = 0.72/100 1,800
403 XXM SXH=01 A 350,000 0 350,000
02 B 2SOl CHEHCH & AFZ HI 350,000 0 350,000
OANES2EENRIZLAIY BEXS5I4E | 350,000
wWERA L2 50,540 50,540 0
401 Al HIZL S HYI 50,540 50,540 0
01 Al&£Hl 50,000 50,000 0
OugmIlE 50,000
03 A& 201 540 540 0
ONYRNES LUl
50,000,000& = 1.08/100 540
NEEZ FHIAY 1,100,000 30,000 1,070,000
= 400,000
Al 700,000
401 Al HIZ S HYI 1,100,000 30,000 1,070,000
& 400,000
Al 700,000
01 A& H] 1,096,054 30,000 1,066,054
OANE=Z BSHIZEAY 1,096,054
& 400,000
Al 696,054
03 Al 20HH] 3,946 0 3,946
OANEE2 N2 ZLAY 20|
1,096,054,000& = 0.36/100 3,946
S2ZAE JlsZE 775,738 611,472 164,266
c2AEE &2 115,870 133,840 A17,970
201 et 73,460 90,840 17,380
01 At 22l 16,680 25,120 A8,440
o2 15,000
2R ABE 10,000
CBTHI SE44+2 5,000
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el S2AE JIsdE (ctel &)
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
o2g+¢ 1,680
cTRIHMOIAS HALT
70,000& * 89 * 33| 1,680
02 E=2ZHl 56,780 65,720 28,940
Os32= % HAl 52,780
o2 H|(40H4) 5,000
ocdIIZB 2,500,000& = 128 30,000
cEZIMHREZ 130,000& = 3CH * 23l 780
oXtHEE S (8MH) 8,000
cEZHEEZ HRILIANNLES RERS 1,500
CEE2HES RIIIXIAM 7,500
oHg ¥ XotiE sXl2e 3,000
OUNRHEL S AMEE SNHEI(3MD) 1,000
202 ¢4 4| 8,748 12,000 A3,252
01 =2 A bl 8,748 12,000 A3,252
Oz gfxd
81,0008 * 4% » 3 * 93] 8,748
206 =l 6,000 6,000 0
01 HZ I 6,000 6,000 0
OEZ2HA2e Mz 6,000
401 A& HIZ 2 CHHI 27,662 25,000 2,662
01 Al & Hl 27,500 25,000 2,500
OHY SXE=(3MD) 10,000
OEZetHEXE & EHALY FHI 15,000
O==22UIla 2] L Ald&d FH| 2,500
03 AI& 2 0HHI 162 0 162
O HHEXE & BHALY Ed| R0l
15,000,000& * 1.08/100 162
M =& 588,300 402,000 186,300
101 eI24d| 50,000 0 50,000
04 JI2ZtHZ22XRHSE= 50,000 0 50,000
OM&EXE 283 JAASE 212 50,000
201 et2Ad| 80,000 70,000 10,000
02 2324l 80,000 70,000 10,000
ON&Ex " |RF4 70,000
OM&Extg sXl2el 10,000
202 (44l 1,300 2,000 AT00
01 =2 WA bl 1,300 2,000 AT00
OH&£gs =2 1,300
206 M=l 160,000 165,000 25,000
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SN-EHH . SH(BH) - HPAY - BE2 O AF o8 il b o B2
01 T2t 160,000 165,000 25,000
gsizs 2 45,000
042 7Y 100,000
ATare L e W22 15,000
401 Al HIL 2 TH b 165,000 165,000 0
01 Al &bl 15,000 15,000 0
ORI ZHl 44 (150H) 15,000
03 Al& S CHY| 150,000 50,000 0
OMAZY A2 150,000
405 X+ &HE St 132,000 0 132,000
01 LS EH S| 132,000 0 132,000
OMZHA DA 66,000,002 * 2% 132,000
HANLARE 2Y 6,672 10,032 3,360
201 YBr2gy| 3,640 7,000 3,360
01 At 22|t 3,640 7,000 3,360
OEATISIARE BH2L
0,002 * 262 * 23] 3,640
301 YBHEA S 3,082 3,082 0
10 S ALAH B4 S 3,032 3,032 0
O&ANISARE &40l
75,8002 * 10% * 43l 3,082
CANRYSE BB 4,000 8,000 A4,000
203 YR E=TY| 4,000 8,000 A4,000
03 AI&FZ 2= XYl 4,000 8,000 A4,000
OSAIZLEE SSHHET 4,000
SROFAD TAI 5,000 5,000 0
305 a2 S 5,000 5,000 0
01 tha2S 5,000 5,000 0
OZZOFAID R4S 5,000
CREY AR DA 55,896 52,600 3,296
201 YEr2gy| 600 1,000 400
01 At 22| bl 600 1,000 A400
OZZHUMRK SII242 600
202 018 1,296 1,600 A304
01 2U0i 8| 1,296 1,600 304
OENEl YeET 1,296
401 Al HIL 2Tl 54,000 50,000 4,000
01 Al &bl 54,000 50,000 4,000
OERBY AKX A 50,000
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el

L Z2DSY =5 U 2K
r

P EZANE JIsdE

B . M. CHe (5 NEAY . B2 Al OH HEE Hl =2+
OZZAE Xtz 4,000
XS A 25t 285,820 165,712 120,108
& 50,000
Al 235,820
2018 £ 4 285,820 165,712 120,108
= 50,000
Al 235,820
LIEAIE R 50,540 100,972 A50,432
401 A& HIZ 20HYI 50,540 100,972 AB0,432
01 A& HI 50,000 100,000 250,000
OEIIBAIE KRXES=BA 50,000
03 AI& 2 0HHI 540 972 AN432
OLEIEAIE RRNESS A 20HI
50,000,000& =* 1.08/100 540
SELE 121,080 50,540 70,540
401 Al HIZ 20 121,080 50,540 70,540
01 Al & Hl 120,000 50,000 70,000
O EZHZA 120,000
03 AI& 201 1,080 540 540
O=sZEZEI A 20|
120,000,000& * 0.90/100 1,080
OtE2ot=HelAld 2R 14,200 14,200 0
201 B2 HH| 4,600 4,600 0
01 At 2teltl 1,000 1,000 0
OO0tSot=HMelAld s RIHel
500,000& * 20 & 1,000
02 2224l 3,600 3,600 0
OltsSsot=HelAld dIIea
100,000& * 2 = 12& 2,400
OO0tSot=HMelAld RA&e] 1,200
307 212+0l & 9,600 9,600 0
05 RIZtRE S 9,600 9,600 0
Olt2ots=HelAlE fg2el
400,000& = 204 » 128 9,600
stet= ED|EHEHI B A 100,000 0 100,000
= 50,000
Al 50,000
401 Al HIZL 20HYI 100,000 0 100,000
& 50,000
Al 50,000
01 Al &l 99,108 0 99,108
Ostr= 0|8 Ul S Al 99,108
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Sl meIE E4 (e @8
_ _ _ Muo
SNBSS - HRAY - BHES 01l & o4 e HIRZE2
< 50,000
Al 49,108
03 Al& S CHY| 892 0 892
Osterz |8k FHIBA 20HY
99,108,0002 * 0.90/100 892
ZoIgy HOED 314,292 65,300 248,992
DIZSE AL A B 314,292 65,300 248,992
MEOIRISHY 2 314,292 0 314,202
201 L2 Y| 1,700 0 1,700
02 ZZ2H| 1,700 0 1,700
OMEDIRIISHEY 2 1,700
oMEDIIISHE FHHIRX2L 1,200
ocE2E+EZ0AD] Hzt| 500
202 01t 2,502 0 2,502
01 =L 01 bl 2,502 0 2,502
OMERIISH2 2,502
206 T & bl 30,000 0 30,000
01 T2 bl 30,000 0 30,000
OMERIISHE HERY 30,000
401 Al E 6L 20| 260,000 0 260,000
01 Al&Hl 260,000 0 260,000
OMBOIRRRE L ARD ZOIOIAGAAY 260,000
405 Xt AHF S HI 20,000 0 20,000
01 KAt U S E 3 S| 20,000 0 20,000
OMEBORAIISE X2 B 20,000
ZOIMEXMYIA MM 2E 12,334 13,067 AT733
= 3,700
Al 8,634
s 25 12,334 13,067 AT733
= 3,700
7 Al 8,634
HASS Fel N 12,334 13,067 AT733
= 3,700
Al 8,634
307 212H0| & 12,334 13,067 AT733
= 3,700
Al 8,634
INEESTEES 12,334 13,067 AT733
ONMASE Z42l XA(8HIH) 12,334
= 3,700
Al 8,634
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el ZTAE2 & E (etel: =3
= % ol (5 = 5 dEE =
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ol AF o8 BlusZ
OlchXI&F A S A 921,917 901,402 20,515
A3 &4 921,917 901,402 20,515
Jt2(2eh) s &z 921,917 0 921,917
201 24 561,540 0 561,540
02 3244 561,540 0 561,540
OJtz(Eehs ®iles 335,010
CIIES 30.3& * 500 = 150W = 123 27,270
CIZ2S 30.3% * 2,306 * 288N » 12 241,477
o HotE 30.3% * 2,144 » 85N » 123 66,263
O0UXIZES EXtags 17,645,500 » 123 211,746
OFAZAMO RHSEE=
7,000& * 176002 * 128 14,784
401 AIEHIZ S HYI 360,377 0 360,377
01 A& H] 357,800 0 357,800
OMNZs &l EX3A 1,340,000& = 505 67,000
OJtz(Eehs |2
234,000& = 1,200 280,800
OEM Y LSAZ2 2+ 100,000& * 100S 10,000
03 Al 20 2,577 0 2,577
Oz (EehHs 4X(nH) ¥ RAES> 2
357,800,000& * 0.72/100 2,577
HY2LZH (AL DY) 375,778 310,789 64,989
I8 2 329,442 258,353 71,089
eI 23| 329,442 258,353 71,089
101 212 dl 329,442 258,353 71,089
03 RIHA2Z2XNE+ 329,442 258,353 71,089
O==2& = 254,096
k=== 48,3403 » 9F » 250 108,765
o= 108,765,0009 * 4/12 36,255
ocXtRE5It=Y 48,3404 * 9% » 20& 8,702
o AL 2R
7,510& » 9H * 20Al2t ~ 128 16,222
ST | 80,000& » 9H » 12& 8,640
oREgZReE 40,0008 » 9 » 123 4,320
oxdIRsE
72,5108 » 9H » 32 » 122 23,494
oxrFsd 48,340 » 9F » 52 22,624
AR = 108,765,000& * 10/100 10,877
o X SLIHAH| 251,330,000& = 3.5/100 8,797
o HEF I 300,000& = 99 = 23| 5,400
O=2¢% 1=l 200,000& =+ 99 1,800
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SN ALF Y
I HMAAY (AL MY)
el elE 2 (98
S BB SR (B) - NEAY - BAS 0f & o Soe DB
Ox==2& SgHdl 7,000& » 9F » 7& « 128 5,292
Od&gAI|ISHel 224 B+ 68,254
=JlE2s 44,060 » 3 » 250 33,045
SR 33,045,000 * 4/12 11,015
cHXFESSItr=E 44,0608 * 3F 20 2,644
o A2t =E
7,0308 * 38 » 20A12+ » 123 5,062
oxzsag 44,0603 » 3Y = 52¢ 6,874
AR 33,045,000& * 10/100 3,305
o EF I 300,000& = 3&8 = 23l 1,800
o+ 40,000 » 3 » 12& 1,440
o X S IH&HI 61,944,000& = 3.5/100 2,169
o Il =l 150,0008 * 3& * 23| 900
=AYl 46,336 52,436 ~6,100
JI=238l 46,336 52,436 26,100
201 L2 Y| 30,936 35,436 A4,500
01 At 22l 26,136 30,636 4,500
ORAN2g Jl=34l 250,000 = 12& 3,000
OMSREZE PL(2AX &) 200,0008 * 123 2,400
OHEEARII A28 7Y
300,000& = 13CH » 22 7,800
Odz3a=+ll gxz 49,000 204 » 123 1,176
(@F=3={] 7,000& = 208 » 7€ » 128 11,760
02 =244 4,800 4,800 0
ORER= 400,000& » 12 4,800
202 O4H| 11,200 12,800 21,600
01 2L 1,600 3,200 A 1,600
OHl&Z 2 2LH0dH| 1,600
02 A0l 9,600 9,600 0
Od & ¥ A0
200,000& = 4% = 12& 9,600
203 H Rl 4,200 4,200 0
04 FEAEE 2T 4,200 4,200 0
ORANzEgRFaYI 350,000& = 12& 4,200
WEESTEEE- L) 2,932,304 2,431,941 500,363
= 1,154
Al 2,931,150
LHEAHHXI = 2,932,304 2,431,941 500,363
= 1,154
Al 2,931,150
HEHAHK 2,932,304 2,431,941 500,363
& 1,154
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Al 2,931,150

701 JIEIS HAE =2 2,932,304 2,431,941 500,363
= 1,154
Al 2,931,150

01 JIEtSH N E= 2,932,304 2,431,941 500,363
OFf=ZEAHANG L 2H 600,000
O X =7 ot HEHIAIES 1,200,000
OZAl BIE2Z HZAIE &XIAt 116, 150
O33otxHMHelAlE HSAIS ALY 1,015,000
Odt=xXel& oIXEHN 1,154
= 1,154
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